DU BEd Special Education Visual Impairment

Topic:- DU_J18_BED_SE_Topic01
1) Which state in the country has the largest number of districts?

2 F BE Y T § Hay Wl aen/ e 8
[Question ID = 3936]

1. Maharashtra / H8RTY [Option ID = 15742]

2. Tamil Nadu /m g [Option ID = 15743]

3. Uttar Pradesh / 0% 9% [Option ID = 15744]
4. Madhya Pradesh / ™8 ¥4%  [Option ID = 15741]

Correct Answer :-
« Uttar Pradesh / 3% 5391 [option ID = 15744]

2) Who is the author of the book ‘My Experiments with Truth’?

H & UORT (My Experiments with Truth) ATH® [&I® & AW I &2 [Question ID = 3886]

1. Bal Gangadhar Tilak / STcT TTIER foae [Option ID = 15542]
2. Vinoba Bhave / fa=iIaT HTd [Option ID = 15544]

3. Mahatma Gandhi / FgTET et [Option ID = 15543]

4. Maharishi Arvind / A8 3Rfdg [Option ID = 15541]

Correct Answer :-
«  Mahatma Gandhi / HgTHT Tieft [Option ID = 15543]

3) Education as a subject of legislation figures in which list.....?

fafy & fwa & wu & gn fa gt & o 32
[Question ID = 3902]

1. Union List / €T 3 [Option ID = 15605]

2. State List / T H?ﬁ [Option ID = 15606]

3. Concurrent List / Eﬂaﬁ’f‘{tﬁ [Option ID = 15607]
4, Residuary List / 3fa=st =it [Option ID = 15608]

Correct Answer :-
e Concurrent List / Hﬂﬁéf&iﬁ [Option ID = 15607]

4) ‘World Environmental Day’ occurs every year on ?

fay vafavor feaw |=rar ST 872 [Question ID = 3887]

1. 21 June/ 21 S [Option ID = 15547]
2. 5June / 5 97 [Option ID = 15545]

3. 4 April / 4 30 [Option ID = 15548]
4. 15June/ 15 ST [Option ID = 15546]

Correct Answer :-
e 5June /5 T [Option ID = 15545]

5) For a teacher, which of the following methods would be correct for writing on blackboard?

U AP F oY, e 918 W freq ¥ e Frafeaf@a & § 719 @ usfa 98 82 [Question ID = 3922]

1. Writing fast and as clearly as possible. / STt ¥ YT W8T db THT 81 TP G [Option ID = 15685]
2. Writing the matter first and then asking students to read it. /Ha‘mm ﬁm ! fora 1 Ut o faenfifat &1 39 ‘Eef % fore wgH [Option ID = 15686]
3. Writing the important points as clearly as possible. / T8 Sl ! WG] A TRIA g1 WFT ¥ foRAT| [Option ID = 15688]



4. Asking a question to students and then writing the answer as stated by them. /?I'CfH%IT{ foenfifat @ uy gs-I IR R TR & ﬁ?g)’?*l 33 2 ferm [Option
ID = 15687]

Correct Answer :-
« Writing the important points as clearly as possible. / TR STd} &1 STel ddb BT & WFAT ¥ feRaTI [Option ID = 15688]

6) Which among the following states has the highest number of seats in the Lok Sabha?

Frafafa s § @ fra =g 3 @i gut # diel @) T@n 9affie 82 [Question ID = 3890]

1. West Bengal / Gf& §TTd [Option ID = 15558]
2. Gujarat / T[eRTd [Option ID = 15560]

3. Tamil Nadu / GfH@Tg [Option ID = 15557]

4. Maharashtra / H#ERTY [Option ID = 15559]

Correct Answer :-
» Maharashtra / HERIY [Option ID = 15559]

7) Which award was given in 2017 to ‘International Campaign to Abolish Nuclear Weapons’ (ICAN) for outstanding contribution?

AT FARERor 3 SaRigha siftar ot 2017 & forw 3R ¥ & wwnfea far a2 [Question ID = 3888]

1. Gandhi Peace Award /Tiel} RTifd GREBR [Option ID = 15550]

2. Ramon Magsaysay Award /iTF{ TR YRIHR [Option ID = 15551]
3. None of these / 3111?[ I Eﬁ'&f T-I%)f [Option ID = 15552]

4. Noble Peace Prize / 8@ Wifd GR&HR [Option ID = 15549]

Correct Answer :-

« Noble Peace Prize / F19d il QRIHR [Option ID = 15549]

8) Select the alternative which consists of positive factors contributing to effectiveness of teaching:
List of factors:

(i) Teacher’s knowledge of the subject.

(i) Teacher’s socio-economic background.

(iii) Communication skill of the teacher

(iv) Teacher’s ability to please the students.

(v) Teacher’s personal contact with the students.

(vi) Teacher’s competence in managing and monitoring the classroom transactions.

Codes:

Rrgror F1 yUTGHTRET & TS 37 I AGRIAS PRSI a1 [AHeT BT TI7 BT
Wﬁﬂﬁﬁ?ﬁ

(i) 3reaTus &Y fawg &1 3=

(i) AT &Y TR -3mfiie ygyfy

(iii) SIEATUS BT HUAYUT HIA

(iv) faenfiat &Y wqe 7 B sreaTus @t g

(v) frenfat & Hry sreaTus &1 AfdRuTd YU

(vi) F&T YHAER F AT 3R 40T § ATIH B &l

CH

[Question ID = 3919]

1. I, iii and vi [Option ID = 15676]
2. iii, iv and vi [Option ID = 15674]

4.ii, iv and v [Option ID = 15675]

Correct Answer :-
« I, iii and vi [Option ID = 15676]

9) A dialogue between a human-being and a computer programme that occurs simultaneously in various forms is described as:

[Question ID = 3926]

1. interactivity/ ECREEES [Option ID = 15704]

2. man-machine speak/ aRER L [Option ID = 15701]



3. binary chat/Els 9 e [Option ID = 15702]
4. digital talk/ TSI9E® T [0ption 1D = 15703]

Correct Answer :-

« interactivity/ LR [Option ID = 15704]

10) Identify the important element a teacher has to take cognizance of while addressing students in a classroom.

Fem o faenlial &) Wafa sva T SreaTus gRT S § 7@ 91 91 Agaquf B uga S
[Question ID = 3918]

1. Avoidance of proximity / qife § T [Option ID = 15669]

2. Fixed Posture /fRR 4ffHT [Option ID = 15672]

3. Repetitive pause / W‘cﬁﬁ?ﬂ? [Option ID = 15671]

4. Voice modulation / quﬁaﬁ? (dTep HTgd) [Option ID = 15670]

Correct Answer :-
« Voice modulation / a1 TRTEId IREd (a1 ATGE) [Option ID = 15670]

11) If RADIO is coded as ‘UDGLR’, PHOTO will be coded as:

afg feell 72 § RADIO @1 “UDGLR’ foam @@ &f PHOTO &1 7 ferdi?
[Question ID = 3932]

1. OIPWR [Option ID = 15725]
2. OTOPT [Option ID = 15726]
3. SKRWR [Option ID = 15727]
4. SKPWR [Option ID = 15728]

Correct Answer :-
e SKRWR [Option ID = 15727]

12) In the series AB, EDC, FGHI,...........ccous , OPQRST, the missing term is

4T AB, EDC, FGHI,.......ccvvrenen. , OPQRST # T US 8- [Question ID = 3896]

1. JKLMN [Option ID = 15581]
2. NMLKJ [Option ID = 15583]
3. JMKNL [Option ID = 15582]
4. NMKLJ [Option ID = 15584]

Correct Answer :-
e NMLKJ [Option ID = 15583]

Y@ET 3, 11, 23, 39, 59,.cucceererens ¥ 3Tt H@= §Rfl- [Question ID = 3897]

1. 83 [Option ID = 15587]
2. 63 [Option ID = 15585]
3. 73 [Option ID = 15586]
4. 94 [Option ID = 15588]

Correct Answer :-
. 83 [Option ID = 15587]

14) A teacher can be successful if he/she

TS HATYH A% §1 TSl § afe 98 [Question ID = 3924]

1. prepares students to pass the examination / faenfifal &) ufen & S 8 & fom JIR HRAT & [Option ID = 15695]

2. helps students in becoming better citizens / fa=nffal & S8R AMR® 71 H Aeg BT 81 [Option ID = 15693]

3. imparts subject knowledge to students / f=nffa @1 fawg &1 I a1 81 [Option ID = 15694]

4. presents the subject matter in a well-organized manner / faSTa¥q ! Yoaafyd & § U HaT 3| [Option ID = 15696]

Correct Answer :-



« presents the subject matter in a well-organized manner / faYTa¥] &1 oTafUd & 4 U H=dl g1 [Option ID = 15696]

15) The Kathakali dance belongs to the state:

Fwel T A e § Wy 27
[Question ID = 3934]

1. Andhra Pradesh / ¥ 9% [Option ID = 15735]
2. Tamil Nadu / T8 € [Option ID = 15734]

3. Kerala/ % [Option ID = 15733]
4, Assam / HHH [Option ID = 15736]

Correct Answer :-

«  Kerala/ % [Option ID = 15733]

16) Who was crowned as ‘Miss World 2017'?

fay ge&t (Fra aed) 2017 &1 f@are fva= <fitar?
[Question ID = 3891]

1. Manushi Chhillar / AT ¥ feeR [Option ID = 15561]

2. Sana Dua / §-1 g3{T [Option ID = 15564]

3. Ujjala Raut / 3qITell 13 [Option ID = 15562]

4, Priyadarshini Chatterjee / et el [Option ID = 15563]

Correct Answer :-
« Manushi Chhillar / T ¥ feeR [Option ID = 15561]

17) In which city India’s First Distance (Open) University is situated?

YRA BT FaYUH R (o) Rayfemey o fR@ 82
[Question ID = 3893]

1. Hyderabad / eRTaTg [Option ID = 15570]
2. Allahabad / ZeiTgldlq [Option ID = 15571]
3. Delhi / & [Option ID = 15569]
4. Ranchi / €T [Option ID = 15572]

Correct Answer :-
o Hyderabad / %32 dTq [Option ID = 15570]

18) In which country ICC under 19 Cricket World Cup held from 13 January — 3 February, 2018?

TSR 3ie3-19 frdre fAYHU FT TS 13 TG T 3 WA, 2018 T [T =1 W muifora foram 4T UT? [Question ID = 3889]

1. New Zealand / gSiIdis [Option ID = 15553]
2. England / $7S [Option ID = 15555]

3. Ireland / 3RS [Option ID = 15556]

4. Australia / SHQJ%I'CIT [Option ID = 15554]

Correct Answer :-
+  New Zealand / gofiais [Option ID = 15553]

19) If you get an opportunity to teach a visually impaired student along with regular students, what type of treatment would you like to
give him/ her in the class?

afe syt Tr=a faafia & ary-ary = RE faeafiat 1 vem &1 SR fird, 9@ onu Tan A 5y YR 3WF WY TSR BT ATeA? [Question
ID = 3921]

1. Not giving extra attention because majority may suffer. / 3ifaf¥ed — ea T8} < TP SifHT P 81 IoM! IS Feveit 21 [Option ID = 15681]

2. You will think that blindness is his/ her destiny and hence you cannot do anything. / 34 TR o 3RO IHHT UM 7 3R SR 3y £33 To! R Tdd
g1 [Option ID = 15683]

3. Arrange a seat in the front row and try to teach at a pace convenient to him/ her. / 3 Pt Ufd § die o) Sga=T A1 3R 3T ol gﬁw nfa ¥
TG & HIR HIAT| [Option ID = 15684]



4. Take care of him/ her sympathetically in the classroom. /&l o Wﬂ% J ITP TG HAT [Option ID = 15682]

Correct Answer :-

« Arrange a seat in the front row and try to teach at a pace convenient to him/ her. / 3 1 Ul & Hie Bt TR HAT 3R ITF o Ylyurere fa
Y UG @ PIFAY HAT| [Option ID = 15684]

20) Jhoolan Gowsami is a famous player of which game?

o M 5w @a ot ulis Al et 82
[Question ID = 3895]

1. Cricket / fohde [Option ID = 15580]

2. Badminton / Ssfiies [Option ID = 15577]
3. Chess / RId¥sl [Option ID = 15579]

4. Swimming / SRTe! [Option ID = 15578]

Correct Answer :-
« Cricket / fhde [Option ID = 15580]

21) The average of four consecutive even numbers is 27. The largest of these numbers is:

TN TGN | wema @ adad o7 81 3 9§ wed 92 W o | g
[Question ID = 3927]

1. 28 [Option ID = 15708]

2. 32 [Option ID = 15706]
3. 36 [Option ID = 15705]
4 30 [Option ID = 15707]

Correct Answer :-
. 30 [Option ID = 15707]

22) Mohit walks 10 m in front and 10 m to the right. Then every time turning to his left, Mohit walks 5, 15 and 15 m respectively. How far
is Mohit now from his starting point?

WRT 3 WA B 3R 10 e R qrieet 3R 10 Hex aar 81 fre Aifga sroeit arff 3R gs-Hs&R U 5, 15 3R 15 Hex Iaar 81 Wifgd 59
Y U IRY fig A e g w82

[Question ID = 3899]

1. 20 m [Option ID = 15593]
2 15 m [Option ID = 15594]
3. 5 m [Option ID = 15596]
4. 10 m [Option ID = 15595]

Correct Answer :-
. 5 m [Option ID = 15596]

23) Out of four cities given below three are alike in some manner while the fourth one is different. Identify the odd one-

4 foT 7T aR e’ # @ I [l T ol o A v wwE €, Safe Shun weR o 1 39e! uguH Pl
[Question ID = 3898]

1 Patna / UcHT [Option ID = 15589]

2. Rishikesh / ESLCl [Option ID = 15590]
3. Lucknow / €783 [Option ID = 15591]
4. Varanasi / IRTOR [Option ID = 15592]

Correct Answer :-
e Lucknow / @83 [Option ID = 15591]

24) A party was held in which a grandmother, father, mother, four sons, their wives and one son and two daughters to each of the
sons were present. The number of females present in the party is:



T urdf maifera #1 wE R g, fran, Aman, IR g3, S99 uferat ok vd® 19 & U U U4 < yfai SufRim 21 urdf & SufRua afgensi # wen
fora=it @2 [Question ID = 3900]

1. 14 [Option ID = 15600]
2. 24 [Option ID = 15598]
3. 18 [Option ID = 15597]
4 12 [Option ID = 15599]

Correct Answer :-
e 14 [Option ID = 15600]

25) Using websites to pour out one's grievances is called:

AT TE 3 49 WEe T W WS e B 1 Fed &7
[Question ID = 3930]

1. Cyber venting / 1E8% 9T [Option ID = 15717]
2. cyber ranting FRIEEN e [Option ID = 15718]
3. web plea / @ @l [Option ID = 15720]

4. web hate /@ & [Option ID = 15719]

Correct Answer :-
« Cyber venting / iga% dfer [Option ID = 15717]

26) Which part of computer is known as ‘Computer Brain?

i@ & | $I9 91 $EER $T fGUNT (Brain) 82 [Question ID = 3894]

1. Hard Disk / BT8 f&%® [Option ID = 15576]

2. Central Processing Unit / @Eﬁl uﬁ@rﬁmqﬁz [Option ID = 15574]
3. Programme / eI [Option ID = 15573]

4. Memory / FHRT [Option ID = 15575]

Correct Answer :-
« Central Processing Unit / Tcd UIIRIT gfe [Option ID = 15574]

27) Effective teaching is a function of

T Rreror frafef@a o | «ar 82 [Question ID = 3925]

1. Teacher’s satisfaction / fR1&/@ &1 AW [Option ID = 15697]

2. Teacher’s honesty and commitment / &/ &1 SHMERT 3R Ufdsiedr [Option ID = 15698]

3. Teacher’s making students learn and understand / fRrefe &1 BET YRR SR T [Option ID = 15699]
4. Teacher’s liking for professional excellence R IRED Iy & vl Rerew ot [Option ID = 15700]

Correct Answer :-
« Teacher’s making students learn and understand / f1e/@ &1 BET B! RRAMT 3R JHET [Option ID = 15699]

28) A good teacher must be
TP 3uH fR1er% & fHarda: [Question ID = 3920]

1. resourceful and autocratic / SUTIHRI TAT WBER! g1 A1fRU| [Option ID = 15677]

2. resourceful and dominant / SUTIH A qUT TY@YU! ST AMBY| [Option ID = 15680]

3. resourceful and participative /SURIGHRI dUT THTH T &1 811 =TI [Option ID = 15678]

4. resourceful and authoritative /SURIGRIA TUT MABING UGRI HT ST aTgU| [Option ID = 15679]

Correct Answer :-

« resourceful and participative /SURIGRIA TUT TEHFT UGl &1 g1 AT [Option ID = 15678]

29) National flag of India was designed by:

AN TR @ P TR ae?
[Question ID = 3938]

1. Pingali Venkaiyya / fTTell #8531 [Option ID = 15751]



2. Jawaharlal Nehru /9T91&% €lel s [Option ID = 15752]
3. Mahatma Gandhi / &T& et _[Option ID = 15749]
4. Subhas Chandra Bose / q ¥ @ [Option ID = 15750]

Correct Answer :-
« Pingali Venkaiyya / f0Tell #5310 [Option ID = 15751]

30) Who among the following can be asked to make a statement in Indian Parliament?

qdiE w6e 4 = 8 9 faer qam 39 @ o oe @ 9 27
[Question ID = 3928]

1. Solicitor General of India ; FICHYIEY el 6 A o400 1p = 15711]

2. Mayor of Delhi / e B AW [Option ID = 15712]
3. Chief of Army Staff/ T B TR (000 10 = 15710]

4. AnyMLA/ P TLTE T (00600 1D = 15700]

Correct Answer :-
. Solicitor General of India / TIETHEY e M6 SR | oi0n 1 = 15711]

31) Who is the current chairman of the ‘Rajya Sabha'?

5T HT & THH GHTUFT B9 &2 [Question ID = 3892]

1. Sumitra Mahajan / ﬁﬁ?ﬂw [Option ID = 15566]
2. Hamid Ansari / BTG 3ERT [Option ID = 15567]

3. Najma Heptulla / W%ﬂﬂﬁﬂ [Option ID = 15565]

4. M Venkaiah Naidu / TH. 34T A1gg [Option ID = 15568]

Correct Answer :-
« M Venkaiah Naidu / TH. 3331 GG [Option ID = 15568]

32) Which of the following conclusion is logically valid based on statement given below?
Statement: Most of the Indian states existed before independence.

Conclusions:

(I) Some Indian States existed before independence.

(IT) All Indian States did not exist before independence.

ferfafiaa % ® o w1 oo = o Tedf & amnfie ofs w0 9 8 27
T, MR & TR 9 Woad & Ued Afad 1 o)
Qﬁuﬂﬂ;

[ 9Na & §B U0 Waaa & Ted Afad # o)
1. ¥~a & w4 woa Waaa & Uedd dRaa § 8 4

[Question ID = 3929]

1. only (D) isimplied; ¥9¢ 1 ¥ &1 [option ID = 15713]

2. only (1) is implied / 9@ LLFE &1 [option 1p = 15714]
3. Both (I) and (II) are implied / =1 1 @1 11 %€l 21 [option D = 15715]

4. Neither (1) nor (11) is implied / 1 @ I &1 2 & 7 11 1 [option 1D = 15716]

Correct Answer :-

. only () is implied ; 79 LLFE 21 [opi0n 1p = 15714]

33) Which one of the following Articles of the Constitution of India safeguards the rights of Minorities to establish and run educational
institutions of their own liking?



TG T B B W AwE J T © A e @ Abe dwendl # wnfild w9 @R e &
IRIFR BT G Fear &2

[Question ID = 3935]

1. Article 30 /%% 30 [Option ID = 15739]
2. Article 31/ %% 31 [gption ID = 15740]
3. Article 29 /3% 2 [0ption D = 15738]
4. Article 19 ¥TH% 19 [Option ID = 15737]

Correct Answer :-
« Article 30 /%I%% 30 [Option ID = 15739]

34) As a teacher, select the best option to ensure your effective presence in the classroom.

TP AP P =0 F H&m & muapt gurd) IufRufa gRfda +:1 & i gaian fawew #1999 $HRT1 [Question ID = 3916]

1. Adoption of well- established posture / {Bﬂﬁ?{ U @1 St [Option ID = 15663]
2. Making aggressive statements /3{TshTH® HY- HAT [Option ID = 15662]

3. Use of peer command / Tgaift THICRT &1 WART [Option ID = 15661]

4. Being authoritarian / UTI&R-aTd} 811 [Option ID = 15664]

Correct Answer :-
« Adoption of well- established posture / RAUT HFAT T 3FfiHRUT [Option ID = 15663]

35) Parliament can legislate on matters listed in the State list:

THe T W @ fvdf ® & T awa §

[Question ID = 3931]

1. With the prior permission of the President. /QWITFEI El F Hi‘qﬁ' o [Option ID = 15721]

2. In case of inconsistency among State legislatures. /ﬁﬂ HfErE § e sl S [Option ID = 15723]
3. At the request of two or more States. /ahr o Il T E SFﬁEI . [Option ID = 15724]

4. Only after the constitution is amended suitably. /W wifdar # wad selte 9w [Option ID = 15722]

Correct Answer :-

« At the request of two or more States. /ahr @ & THR [Option ID = 15724]

36) If ‘friend’ bears relation to ‘friendly’ which word in the options given below bear the same relation with opponent?

IfE “friend’ FT W “friendly” § B & “opponent” & He e g
[Question ID = 3985]

1. Defeat [Option ID = 15939]
2. Hostile [Option ID = 15938]
3. Enemy [Option ID = 15937]
4. Contest [Option ID = 15940]

Correct Answer :-
e Hostile [Option ID = 15938]

37) “Education is the manifestation of perfection already in man” was stated by

fram wer “Rien ags ® vgd | farer gofar @1 enfaufa 8” 2 [Question ID = 3923]

1. Sri Aurobindo / & 3RfISY [Option ID = 15691]

2. R.N.Tagore /a1 271 [Option ID = 15692]

3. M.K.Gandhi / TgTET el [Option ID = 15689]

4. Swami Vivekanand / T} fdd&Te [Option ID = 15690]

Correct Answer :-
« Swami Vivekanand / T} fdd@Tg [Option ID = 15690]



38) If 45X37 = 47; 57 X64 = 58 and 94 X 27 = 46, what will be 84 X 36 = ...?

Tfg 45X37 = 47; 57 X64 = 58 3R 94 X 27 = 46, ) 84 X 36 T EII? [Question ID = 3901]

1. 36 [Option ID = 15601]
2. 48 [Option ID = 15602]
3. 57 [Option ID = 15604]
4. 54 [Option ID = 15603]

Correct Answer :-
» 48 [Option ID = 15602]

39) The first Indian to win a gold medal in Olympics was:

Yrafam # wvl Fie T wad TEd WG B 87
[Question ID = 3937]

1. Abhinav Bindra / afirma faz [Option ID = 15748]
2. Bijendra Kumar/ﬂﬁ?" B [Option ID = 15745]
3. Milkha Singh /ﬁ‘_’@ fife [Option ID = 15746]

4. P.T. Usha / i, & = [Option ID = 15747]

Correct Answer :-
« Abhinav Bindra / 8 2T [option 1D = 15748]

40) The use of teaching aids is justified on the grounds of

Rraror Gaht Terrs-IuHU Ft ITANT fb NfRreT &7 YR ?

[Question ID = 3917]

1. Attracting students’ attention in the class room. /e | faenfial &1 ear 3mesfifd H=ATI [Option ID = 15665]

2. Optimizing learning outcomes of students. /fanffa & SifrTe GRomHt %Y §¥aH HRATI [Option ID = 15667]

3. Minimizing indiscipline problems in the class room /&l o Gij&ll%Hé\Hdl DI JAR B HH HAT| [Option ID = 15666]
4. Effective engagement of students in learning tasks / 31foRTH B 7 faenfial o gydt G ¥ T [Option ID = 15668]

Correct Answer :-
« Optimizing learning outcomes of students. /R & 3ifeFTH GROTHY %Y g¥aH FRATI [Option ID = 15667]

Topic:- DU_J18_BED_SE_Topic02

1) qRI & YW 3T & T SId:IR0T & fearawd A1 3 ATPR BT A& af 8, T & SIagR pRerar ot & o din &t gart ok snmepfda wedt 21 5,
¥ fearaT, SEdTT ok U @ Sud AR 78 @1 T1fiRw §t wra =i @ ?, geu A Fread 2, 98 gy ) gy W wodt ¥ A A @
Ta gl gt 81 T ot a8 ® 7 @l g ol 3t BE B9, g 91 & 3R RT 3R $Y SR gAY 3 89 W UW B, TURT HTd HggH B3, 3% oila-
T 5 7O e TTd - TAT 3JYd Y| TS SRT W B1d B af freht 3 w= fow & wxien &1 t smuest fo e f@at Iaa1 82 #1E 3nust qame

TR 7T § & SMIPT T $A T Al 82 HW A BIS 797 e fram ot sreafaymedt sk sergy o4t 7 fewrd 2, +fier & 98 5o snuat ave
WRIET BT, MITg- BT 3R WE BT 47T 21 91 3 IF, WHIIGdT dd o T df 3T BRA IqP g6d § e Uga Sgil | gaRl @t ura-aii &1 Siw-
3P THGH, STP! $g BT, 3P 1Y T=TS 3R Vg HT AIER ] Y81 qAeR FIAdT 2 | 3H F e sita= & S iradr  gears Fa &
PHoll 1Y T ¥ 1 S THRY U=t & whifey el @ | 3rerTi

=t YT §ed & 919 Ahd! § e
[Question ID = 53379]

1. 98 3fge Bt B [Option ID = 93503]
2. 98 ged ¥ st § [Option ID = 93502]
3. 9% faaman it § [Option ID = 93504]

Correct Answer :-
. 9% gad 9 fAwadt § [Option ID = 93502]



2) g & YT g9 B I SA:HR0T N Raawdt A7 3 IR BT A&7 Y B, WY & agR perar  § S A b gurt ok o welt R 5,
T faETaT, ST ok S0 € St RivmEr 78 @ wiftw) <t Wi w=ht 811 8, a0 @ Froad @, o seu ot sy M yed B A A @
T ygfai gt 31 T ot 78 @ b R g Yo Bt B B, & ale & o FURT 3MTeR ¥ 3R g 3 79 W UW FR, FURT UG TqH B, SF sia
ﬁﬁ@ﬂ%ﬁmﬁé--ﬁwaﬂwaﬁlanu%wﬁwﬁaﬁuﬁﬁ%aﬁﬁaﬁmaﬁﬁmﬁah@am%mﬁ%mﬁm

[ 3T B &t SATUHT T FA Tl A1 32 SR A Dig go7 ATt} famn o sreafayrdt siv snorge Y = fiewrs 8, iR & a8 g0 emust ;e
WRIET FT, Mg BT AR BT T Y@ 31 e oMy I/, WG i A T df 30 BRA I9F g6d A Mwe uga sgit | gaR) ot yramnait 1 Sie-
wm,aﬁﬁm,mmuﬁésﬁ?%mwmuﬁmméls?ﬁﬁmmvhaqﬁ?ﬁma?mﬁ@ﬂ%aﬁ
Poll 81U adl B 1 399 TARY 3aeit g wify dgdt € | e

T™ 59 91d BT Y 3-
[Question ID = 53384]

1. SRYad Tt &7 [Option ID = 93524]

2. URT § ¥g &7 [Option ID = 93522]

3. WIfeE HioH, 399 a%d &1 [Option ID = 93523]
4, ¢4, QAd 3R TWeRd T [Option ID = 93521]

Correct Answer :-
« TR d W &I [Option ID = 93522]

3) ERI & qW g § T fa:HRur A feeeaft A o WRPBR FT T80T A B, 1Y § g pRraan ft § 5 ahil Y guRt 3R e welt 71 7,
3O o, FEdu ok Su € U RPER T8 811 T1iRe| St Hia= =it gkt 8, 57 9 e €, 98] &g &1 a1y +t It 81 71a 1 &
T wgirai gt ¥1 T ot 98 8 b @l gHR ol B B Y, g6 alq & SR TURT 3MTaR B 3R g 3 8H W UH B, THART ST UEqH $Y, 1 sia+
T 59 $° Wed 7T 8-- THT AGHT HY| 3SR | B 7 gfe et A T= foe @ wxiwn &6t oY 3mueht few a1 (e o1 82 B US| Teare
A AT & o YD1 79 FA Tt o1l 82 SR A DS 9871 el fbaar oY snerfayrdt 3w anerge F4f 7 fowrs 8, ik | a8 g9 3must e
U1 BT, MTe ®1 3R | BT YT 31 e 31y 3, yranforesar i & TSl 3 BRA 36 g6y A Fwe uga Sngd | gal #t ura-nsi o1 die-
B1H GHFH], SAD! HF BT, 3P TTY TS AR Ag FT ATER HIAT Y81 AIgR FIadT 2 | 3 A T Sita1 & S irgdr & gears @a o
Holt BTy T 81 SUY GURT U= Y& Thifal Feet § T Sre|

3D YWPR HT ATy &-
[Question ID = 53385]

1. $u RIFER [Option ID = 93525]

2. TR & g &G 9= 19 ¥ ST [Option ID = 93528]
3. GWRI &1 Y@ g9 U [Option ID = 93527]

4. 30 TN B H% [Option ID = 93526]

Correct Answer :-

+ G & g¥ &< F= A F S [Option ID = 93528]

4) TR & YO g T I Ha-HR0r | feraadt AT 3rd TBR BT A&01 l B, WY & TagR pRrerar WY § S dn o AR 3R s iid Fedt 31 7,
3O faamal, TEdu ok Su € Su RIPER T8 8191 =niRu! St 4= 9=t gt 8, 557 9 a8, 981 &y &1 a1y Wt It 81 A1a 1 &
& wqfrai gt 31 e Ot a5 § 5 a1 5 i ) o 9, 78 a8 < SR SURT S1eR ¥ SR gE d §H W UH FY, TART U HegH I, & otad
T 59 $© Wed 7T 8-- THT GHT HY | 3P o1 § B @+ g fpalt A T= foa @ wxiwn &5t oY 3mueht few a1 (e Iodn 82 B U Tearg
wnﬁarren%a’rmmﬁwmévwﬁaﬁémmmmmmmqum% fiar A 98 g9 Ut @RE
URIAT BT, MeTeT &1 3R |e BT Y1 71 9 3y 39, yranforesar gde o TSt 3 BRA 3T g6d # e uga Sngdt | gurl t urasne «1 diw-
mm,mwm,mmumaﬁ?@?mmﬂmuﬁmﬂméls@ﬁﬁmmvﬂaqﬁ?hm%mﬁ@aﬁaﬁ
Holt BTy T B 1 3UY GURT U= Y& Thifal Fgelt § T 3re|

T oied & diefia v Sl o ar g
[Question ID = 53382]

1. I® T F&GER [Option ID = 93514]

2. T $T 4GS [Option ID = 93516]

3. T9 &I IagR $RIAdT [Option ID = 93515]
4, U9 $1 358l [Option ID = 93513]

Correct Answer :-
o ¥ B FGGR Hadr [Option ID = 93515]

5) GERI & YW g9 # U P01 A gt A1 oS WRPR T A&01 A1 B, WY § AaeR Feadn i § S A B AR iR s ia St 71 g,
TaH faETal, TAEE 3R SHud § ST REER T8 1 iR St yia I=h gl ], geu @ Fead! 8, 981 geu & 91y o Iodl 81 A Bt QY
T ygfrat gt 81 T o) ag { 16 AT guR 7o & o B, 59 36 & SR TURT TR ¥ 3N% gO¥ 9 59 WX UH &Y, TURT YT HgHH $¥, 39 it
T 59 $© Ued TEd &-- THT AGHT BY | 3P o1 J B @ g fpalt A a= fee & w=ian &5t oY 3mueht few Sy fya Iodn 82 B MU Terg

T STaT ¢ dt ST 79 FH A S1dT 82 HW I BIg g7 A1t foba-r off srarfayrdt 3iv snargy w7 faams ¢, iR @ 98 g9Rt snus ave



URIAT BT, MTe $T 3R W BT YT 31 e 317 3, Yrforsar i & TPl 3 BRA 3UP g6y A Fwe uga Sngdt | gul st ura-nsi &1 die-
B1H GHFH], SAD! H5 BT, 3P TTY =TS 3R Wg BT AIER HIAT T8 AR FIadl 2 | W A TR Sita & S irgdr F gears @a o
Holt BTy T 81 3TN GURT U= Y& Thifal Feet § T 3re|

TR PRI BT WU 3f
[Question ID = 53383]

1. GERI BT WraSit Y WHSHT T Aeyul HIER HAT [Option ID = 93519]
2. I @t WaTieft & % FaeR AT [Option ID = 93517]

3. GIRI &1 g && JHLAT d 3T §dT [Option ID = 93518]

4, 3T WTGIST F 3IHW FGER BT [Option ID = 93520]

Correct Answer :-
o IR B UGS B IHFT T WEYO! TAGR HRAT [Option ID = 93519]

Topic:- DU_J18_BED_SE_Topic03

1) ¥ aoigR g 3at o1 It q 7
SR AR ¢RT WR A9 Tif s
SR H foreA aR, a9 aut @

WY qRE! A 4Rt BT FT HIRT
R B Geraw

HIA Pt AHAT A

a1 g1 8 3%

Hifeqi, a=1 guRTI

3R SR 3

areft afeat &

WY G917 Relt BT

ISR FHI

39 Wit eRedt

& fead S amar ur

feafrft Hix gg wim & fAefa e
HY I B ¥ - B
dear et wR Y wfofe gur e
# Aeigy g9 39l 31 ¥t @ T2

ToTgR g ST T8t wa fob-
[Question ID = 53388]

1. 3P dIGT eRat BT IGR B [Option ID = 93537]

2. 98 RAfft @t fafa «wT &1 @ [Option ID = 93540]
3. 98 &Rd BT =Y YR [Option ID = 93539]

4, 98 <di 31 9%t & S/ [Option ID = 93538]

Correct Answer :-

o 9% &dl ! %t | s [Option ID = 93538]

2) & aoigR g9 dal 3 S A |/
SFTFOT O ¢RT W) A9 Tl s
3R ¥ foreA aR, a9 aut @

W RET A R BT Y HIRTI
R B Geraw

HIA Pt AHAT A

Rarg@ e 3%

Hifeqi, a=1 guRTI

3R 3R 3

areft afeat &

Y G317 Rt BT

ISR FHI

39 Wt eRedt

& fead amar ur

feafrt Hiv gg wim & fAefa e
Y I B ¥ e B
dear oReft R it wafviy gur e
# Aeigy g3 39l 31 ¥t @ Fn?



TeigR fewTerg $1 g | 7 FreTa H) @ -
[Question ID = 53389]

1. ¥oR el # wa faem™ & fore [Option ID = 93542]
2. X &1 firgt &9 & forg [Option ID = 93541]

3. WRf et & fgd & g [Option ID = 93543]

4, ¢RT R W &9 & fo1T [Option ID = 93544]

Correct Answer :-

- oRft tRA F 89 & oW [Option ID = 93543]

3) # UoigR U 3af Bt oAl A 7w
SR AR eRT WX A9 Tl s1U)
IR H rdA aR, a4 auf @

Y qRE! A Rl BT F9 HIRTI
Rt B Geraw

HA Pt AHAT A

R ger @ 3%

Hifeat, dwr garTI

3R 3mt 3m

arelt Afeay &

WY G Rt BT

ISR |

39 Wt eRedt

& fea A € amar Ut

fRufirdt ¥k gEe 7 9 fafa ar
A IR B R - B

g YRl R ot wafviy gur e
# AoigR g9 34t ot ot | T

SRTOT T AT 8-
[Question ID = 53392]

1. T [Option ID = 93554]

2. U [Option ID = 93556]
3. 3| [Option ID = 93553]
4, 3FTU [Option ID = 93555]

Correct Answer :-
- 3ATUMIT [Option ID = 93555]

4) & weigy g9 <9t B I S F|T
BRI AR ¢RT WY A9 Tl s1U)
IR ¥ A aR, Ia- auf @

Y qRE! A Rl BT FT HIARTI
Rt B Geraw

H Pt AHAT A

R ger @ 3

difeat, a2 gaRTI

3R AR 3

arelt afeat &

Y 9= Rt BT

ISR B

39 Wt eRedt
FRRadfamr

fRufirdt <k gEe 7 9 fnfa ar
A IR B R - HR
Fer eRet R +ft Tafdfa gu f@emg)
& AoigR g9 4t ot ot | T

Froai ¥ fore Suge =fide ghm-
[Question ID = 53387]

1. TSIgR 3R &d [Option ID = 93533]
2. A9 & @ [Option ID = 93534]
3. TIgR &1 EHAT [Option ID = 93535]



4, sRft 3R AR [Option ID = 93536]

Correct Answer :-
o Rl 3R TSGR [Option ID = 93536]

5) & Aeigy g9 3a F awh & 7
SATRE IR R W) &7 w1l s
3R # a9 aR, Sa auf 9

WY qRAE! A 4Rt BT FI HIRT
R B vy

P B qHAT A

AT g@ e 3%

Wifeai, 931 gHRTI

3R 3mY 3

arelt afeal &

Y IR R BT

ISR B

3 W Rt

& fga o € amar Ut

feafrft Hix gag wim & foefa e
A9 I B W - B

e eRell R W wffe gu e
# Aoigy g3 39l 31 ¥t @ Fn?

e eRell R W witfy qu faeme @ «f3 &1 arad § -
[Question ID = 53390]

1. §¢ff g¥ Rt R I & RAAm [Option ID = 93545]
2. IR &Rl R U & B I [Option ID = 93546]

3. SoR Rl I HHA! ¥ gI-4RT faaT [Option ID = 93547]
4, IR RA W WA F el fJam [Option ID = 93548]

Correct Answer :-

o TOR Ret B HHAl ¥ gXI-4RT faar [Option ID = 93547]

Topic:- DU_J18_BED_SE_Topic04

1) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned
about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Colonial policy and modernisation led to the destruction of:
[Question ID = 4003]

1. rural infrastructure [Option ID = 16012]

2. major industrial infrastructure [Option ID = 16009]
3. urban infrastructure [Option ID = 16011]

4. irrigation infrastructure [Option ID = 16010]

Correct Answer :-
« rural infrastructure [Option ID = 16012]



2) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned
about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Which one of the following have a profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their
ecological interrelations?

[Question ID = 53394]

1. Ruskin and Tolstoy [Option ID = 93564]
2. Jain teachings [Option ID = 93561]
3. Bhagavad Gita [Option ID = 93563]
4. Christian sermons [Option ID = 93562]

Correct Answer :-
* Bhagavad Gita [Option ID = 93563]

3) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned
about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Gandhiji's active non-violence is derived from:
[Question ID = 4004]

1. Freedom of action [Option ID = 16015]

2. Moral restraint of not injuring another being [Option ID = 16013]

3. Having liberties, desires and acquisitiveness [Option ID = 16014]

4. Nature-blind technology and enslavement of human spirit and energies [Option ID = 16016]

Correct Answer :-
« Moral restraint of not injuring another being [Option ID = 16013]

4) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned



about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Gandhiji's overall social and environmental philosophy is based on human being's:
[Question ID = 4001]

1. need [Option ID = 16001]
2. wealth [Option ID = 16003]
3. desire [Option ID = 16002]
4. welfare [Option ID = 16004]

Correct Answer :-
* need [Option ID = 16001]

5) Gandhiji's overall social and environmental philosophy is based on what human beings need rather than what they want. His early
introduction to the teachings of Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the Bhagavad Gita,
were to have profound impact on the development of Gandhiji's holistic thinking on humanity, nature and their ecological interrelation.
His deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative social thinking that was at
once far-sighted, local and immediate. For Gandhiji was acutely aware that the demands generated by the need to feed and sustain
human life, compounded by the growing industrialization of India, far outstripped the finite resources of nature. This might nowadays
appear naive or commonplace, but such pronouncements were as rare as they were heretical a century ago. Gandhiji was also concerned
about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for keeping a
community flourishing within ecologically-sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming
Western alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhiji is best known is that of active non-violence, derived from the traditional moral restraint of
not injuring another being. The most refined expression of this value is in the great epic of the Mahabharata, (c. 100 BCE to 200 CE),
where moral development proceeds through placing constraints on the liberties, desires and acquisitiveness endemic to human life. One's
action is judged in terms of consequences and the impact it is likely to have on another. Jainas had generalized this principle to include all
sentient creatures and bio-communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and even
bacteria. Non-injury is a non-negotiable universal prescription.

Gandhiji's deep concern for the disadvantaged, the poor and rural population created an ambience for an alternative:
[Question ID = 4002]

1. economic thinking [Option ID = 16008]
2. rural policy [Option ID = 16005]

3. urban policy [Option ID = 16007]

4. social thinking [Option ID = 16006]

Correct Answer :-
« social thinking [Option ID = 16006]

Topic:- DU_J18_BED_SE_Topic05

1) Which of these does not use a magnet?
= # | 91 g% &1 T8 T Fw 87

[Question ID = 4207]

1. Electric fan 19970 B T@T (00000 1D = 16826]

2. Computer hard Disc I & Tst [Option ID = 16827]

w

DVD S [Option ID = 16828]

L A

4. LCD TV [Option ID = 16825]



Correct Answer :-

Lo Tv T TLEL A o on b = 16825]

2) B Y g § 1 & SUH I 3fE 9771 T&T 82 [Question ID = 4029]

1. SEIT [Option ID = 16114]
2. 91 [Option ID = 16113]
3. SRGH [Option ID = 16116]
4, JWTAY [Option ID = 16115]

Correct Answer :-

+ QTR [Option ID = 16115]

3) UYGR T3 fhg HINT &7 82 [Question ID = 4027]

1. fg<t [Option ID = 16107]

2. 3RE [Option ID = 16106]
3. TRE! [Option ID = 16108]
4, USTTel! [Option ID = 16105]

Correct Answer :-
« TRY! [Option ID = 16108]

4) Sarkaria Commission was set-up for the inquiry of: / TREBIIAT ST Y =g Ffafafs d | frad aer A v & 1%113 §§ A2 [Question
ID = 4045]

1. Education Reform / fR&f JYUR [Option ID = 16180]

2. Upliftment of Backward Classes / ﬁ@% T & I forg [Option ID = 16179]
3. Jail Reform / @agw [Option ID = 16177]

4. Centre-State Relation / $5-3od T~ [Option ID = 16178]

Correct Answer :-
« Centre-State Relation / Pg-I1od T [Option ID = 16178]

5) TS HEd %W TSR $T g 82 [Question ID = 4026]

1. ¥¢ [Option ID = 16103]

2. GRS [Option ID = 16104]

3. I ¥ [Option ID = 16101]
4, Qe [Option ID = 16102]

Correct Answer :-
« 1 [Option ID = 16102]

6) In which circumstances the President of India may proclaim National Emergency? / YR ?TgTIﬁ' SUTADHTA DI Baa‘rwﬁ»——ruﬁﬁ:ﬁu‘r
T B qHaT 82

[Question ID = 4044]

1. Armed Rebellion / TR fagie [Option ID = 16175]

2. War / & [Option ID = 16173]

3. External Aggression / dTgl 3{ThHUT [Option ID = 16174]
4. Al of these / S5 ¥ Tt [Option ID = 16176]

Correct Answer :-
o All of these / 378 ¥ It [Option ID = 16176]

7) Name the figure of speech where a comparison between two things are made. [Question ID = 4038]

1. Alliteration [Option ID = 16152]

2. Metaphor [Option ID = 16150]

3. Simile [Option ID = 16149]

4. Personification [Option ID = 16151]

Correct Answer :-
« Simile [Option ID = 16149]



8) Fill in the blank selecting correct article from the alternatives given below - He aspires for ......... post of a professor.
[Question ID = 4036]

1. The [Option ID = 16143]

2. A [Option ID = 16141]

3. None of these [Option ID = 16144]
4. An [Option ID = 16142]

Correct Answer :-
« The [Option ID = 16143]

9) What is meant by a religious discourse? [Question ID = 4034]

1. a sermon [Option ID = 16136]

2. to preach [Option ID = 16133]

3. a sanctorum [Option ID = 16135]
4. a stanza [Option ID = 16134]

Correct Answer :-
« a sermon [Option ID = 16136]

10) ¥R & i 9T ? - [Question ID = 4024]

1. T, W, 3fdRY [Option ID = 16096]
2. Wxf, S, 3R [Option ID = 16095]
3. &Y, g%, & [Option ID = 16093]
4. g%, i, Wd [Option ID = 16094]

Correct Answer :-
« g%, Y, Wd [Option ID = 16094]

11) The relationship between the ‘value of money’ and the ‘price level’ on the economy is - / SrforaRn w® i) a?qu" 3R ‘Heg &R’ & d
HdY § - [Question ID = 4041]

1. Inverse / f3@H [Option ID = 16162]

2. Proportional / &ﬂﬂ\?ﬂ% [Option ID = 16163]
3. Direct / Tid&f [Option ID = 16161]
4, Stable / f&R [Option ID = 16164]

Correct Answer :-
« Inverse / fa@® [Option ID = 16162]

12) Choose the most suitable one word- ‘place where skins are made into leather.’
[Question ID = 4035]

1. Granary [Option ID = 16138]
2. Monastery [Option ID = 16140]
3. Tannery [Option ID = 16139]
4. Bakery [Option ID = 16137]

Correct Answer :-
» Tannery [Option ID = 16139]

13) Choose the correct word to replace the underlined word in the sentence — “"Nowadays children see a lot of television.”
[Question ID = 4037]

1. Visualize [Option ID = 16147]
2. Observe [Option ID = 16145]
3. Look [Option ID = 16148]

4. Watch [Option ID = 16146]

Correct Answer :-
« Watch [Option ID = 16146]

14) Choose the appropriate antonym of 'focused’



[Question ID = 4031]

1. Distracted [Option ID = 16123]
2. Refused [Option ID = 16121]
3. Hated [Option ID = 16122]

4. Averted [Option ID = 16124]

Correct Answer :-
« Distracted [Option ID = 16123]

15) ®R- HfY $T IGMER1 § [Question ID = 4025]

1. TER [Option ID = 16100]
2. B [Option ID = 16097]
3. STEIRT [Option ID = 16098]
4. A% [Option ID = 16099]

Correct Answer :-
. TR [Option ID = 16097]

16) 3ig 31 3 § [Question ID = 4028]

1. AW [Option ID = 16109]
2. d1Gd [Option ID = 16111]
3. S [Option ID = 16110]

4, T [Option ID = 16112]

Correct Answer :-
o ¢T [Option ID = 16110]

17) In 30 hiters of mmxture of milk and water, the ratio of milk 1s to water is 7:3. How much
water is to be added to the mixture that the ratio of milk is to water becomes 3:77

T SN UM W 30 wied BEU H gy N U & U 73 5 | M d
e Ol AT o T g S 9 & S 37 31 9
[Question ID = 4048]

24 liters /24 == [Option ID = 16190]
40 liters / 40 =r=2 [Option ID = 16191]

1.
2.

3. 30liters /30 FET [option ID = 16189]
4. 60 liters / 60 =ex

[Option ID = 16192]

Correct Answer :-
o 40liters / 40 ==X [Option ID = 16191]

18) What will be the digit in the ten’s place of the number 3% x 217,
T 36 x 210 ¥ 25 & WH W N W 3@ 8 ?
[Question ID = 4047]

1. 1 [Option ID = 16186
2. 5 [Option ID = 16185
3. 4 [Option ID = 16188
4. 6 [Option ID = 16187

— e

Correct Answer :-

19) Rhizobium (a Bacteria) which fixes atmospheric nitrogen are found in nodules growing in
a

AT, T S, AT o Gmeeer S 9= 31 g i 8,979 96 5

[Question ID = 4055]

1. All of the above
U F [option ID = 16220]



2. Leaves of Iegyminous plants .
afeT@l F [option ID = 16218]
3. Roots of leguminous plants

Belte WHl B ST 7 [Option ID = 16217]
4. Stem of Leguminous plants

Feiar 9 BT T [onri0n 1D = 16219]

Correct Answer :-
« Roots of leguminous plants

PlET G ST F 00 10 = 16217]

20) Black gold is actually
HIAT |1 ad § fAefaigg § F 997 &

[Question ID = 4057]

Petroleum / Ug
[Option ID = 16226]

Gold which becomes black on burning / THT G141 A Fd0 JH 99 &I 81
2. M 2 [Option ID = 16225]
3, Gold sold in black market / FTef AR H F=T T AT T [04i0n 1D = 16227]

4, Diamond / ST [Option ID = 16228]

Correct Answer :-

Petroleum / Ugift=m
. [Option ID = 16226]

21)  wWhich statement among the following is incorrect?

e § | S A FUF 951 T8 51
[Question ID = 4050]

1.112 = 11 x 11 x 11 [Option ID = 16199]
2. 7% = 7 [Option ID = 16197]

3, Dividend = (Divisor x Quotient) + Remainder /fI® = (HIW& X ¥FI%d) + 06 [Option ID = 16198]

4,13 - 2(5- 1) = 5 [Option ID = 16200]

Correct Answer :-
« 112 =11x 11 x 11 [Option ID = 16199]

22) * A man travelled a distance of 80 km in Thrs, partly on foot at @ 8 km'hr and partly @
16km'hr on bicycle. How much distance he travelled on foot?
Th HEA T 80 fhar A @ g 6 He e A i g B W F fEa 9w
FY AT 16 HE fFar At ofy der 9 W 9§ AEfed o 7 92 § 99 @ |
TH ol T Uad oo B TG Bl 7

[Question ID = 4051]

1. 36 kms [Option ID = 16202]
2. 20 kms [Option ID = 16201]
3. 32 kms [Option ID = 16204]
4. 24 kms [Option ID = 16203]

Correct Answer :-
e 36 kms [Option ID = 16202]

A chain of small chemical units combined to form a large single unit is called a

IO R @ UH BIE WA FAaY UF 921 §HE a9 B, 59 @el ol
2

[Question ID = 4056]



Poly / df=r
1. [Option ID = 16222]

5. Polymer /9T [option ID = 16221]

3. None oftElesS R G e [Option ID = 16224]
4. Polythene / 9T=112i9 [Option ID = 16223]

Correct Answer :-
Polymer /¥ [option ID = 16221]

24)  What is the vahie of the expression x* + 3x2+3x +1, when x = 997
aft x =99 7, @ @ww x* + 3x*+3x +1 T A T & ?

[Question ID = 4053]

1. (99)3 [Option ID = 16212]

2. 99990 [Option ID = 16209]
3. (100)3 [Option ID = 16211]
4, 10000 [Option ID = 16210]

Correct Answer :-
« (100)3 [Option ID = 16211]

25) Reforestation means

ERERIEEUNC IR
[Question ID = 4058]

Restocking of the destroyed forests by planting new trees. / 9 U2 @A 9 & 0 a9 H e wenfia &
[Option ID = 16230]

», Burning trees | TST BT T [Option ID = 16232]
3, Cutting trees /| TST FT FEAT [option ID = 16231]

4, Planting trees / 9= M [0ption 1D = 16229]

Correct Answer :-

Restocking of the destroved forests by planting new trees. | 74 U2, THT 7% & 70 39 I T &
. [Option ID = 16230]

26) Product of two natural numbers, one of which has 7 in the unit place and the other is the
smallest 7 digit number having 7 in the ten’s place, will be of what tvpe of number among
the following?

= urpd womet, B Y O ue A TR @ wW 92 7 8 de gEd 7 o gt e
o W B G TEE @ WM W7 B %1 VW %el e d o T mer @ wJem
Brfr 7

[Question ID = 4049]

1. evenmumber /T FE [option 1D = 16194]

2. irrational mumber / 2Of¥ST Hem [Option ID = 16196]
3, fraction / %= [Option ID = 16193]

dd ber / T
4, OOCTHIDE faws [Option ID = 16195]

Correct Answer :-
even number / F T [option ID = 16194]

27) The ratio of the volume of two cones of the same height is 1/3 : 1/2. What will be the ratio
of their respective areas of the bases?

UG WM G AT §] GEHH & AT o a9 1/3 0 1/2 B| O0 AEN @ g%l @
AT 41 g ?

[Question ID = 4052]



1. 3:2 [Option ID = 16208]
2. 2:3 [Option ID = 16205]
3. 9:4 [Option ID = 16206]
4. 4:9 [Option ID = 16207]

Correct Answer :-
e 2:3[Option ID = 16205]

28)  What vahe of ‘a’ will make the expression x% — 2ax + 625 a perfect square?
‘a’ B BH A AM TWES % — 2ax + 625 B 0 T 1 27 ?

[Question ID = 4054]

1. 15 [Option ID = 16213]
2. 50 [Option ID = 16216]
3. 25 [Option ID = 16214]
4. 35 [Option ID = 16215]

Correct Answer :-
o 35 [Option ID = 16215]

29) Who among the following is a supporter of legal rights? / 7 % & B S SRPR BT TASF 22 [Question ID = 4046]

1. Henry Main / 31 A9 [Option ID = 16184]
2. Laski / @Y [Option ID = 16181]

3. Austin / 37 [Option ID = 16183]

4. Mclver / AHTIR [Option ID = 16182]

Correct Answer :-
« Austin / 3% [Option ID = 16183]

30) A ball rolling on the ground slows down and finally stops. This is because of
A TR e H 58 UP Hgd U S I § w6 Wl §| U8 B & i

[Question ID = 4205]

1. None of the above
I 4§ B T [option ID = 16820]

2. Force

T @ [Option ID = 16817]
3. Less force applied

FH T & R [Option ID = 16818]
4, Friction

U & & BT [Option ID = 16819]

Correct Answer :-
« Friction
U &6 & BT [Option ID = 16819]

31) Choose the appropriate synonym of 'Caprice’ [Question ID = 4032]

1. Ornament [Option ID = 16126]
2. Pillar [Option ID = 16127]

3. Whim [Option ID = 16128]

4. Wisdom [Option ID = 16125]

Correct Answer :-
« Whim [Option ID = 16128]

32) Choose the correctly spelt word. [Question ID = 4033]

1. Inflammatory [Option ID = 16131]
2. Inflamatery [Option ID = 16130]
3. Infllammatory [Option ID = 16129]
4. inflamatory [Option ID = 16132]



Correct Answer :-
» Inflammatory [Option ID = 16131]

33) HTUT F} T BI 318, oS G I8 fy o g4, Heard! 8- [Question ID = 4023]

1. IRad T4t [Option ID = 16092]
2. 9uf [Option ID = 16089]

3. TR [Option ID = 16090]

4. 31&R [Option ID = 16091]

Correct Answer :-
« IWiad it [Option ID = 16092]

34) TUI-gIY ¥ §EN - [Question ID = 4030]

1. f§7] [Option ID = 16117]

2. §g [Option ID = 16118]

3. =Y [Option ID = 16119]
4, HUYRY [Option ID = 16120]

Correct Answer :-
« &g [Option ID = 16118]

35) Suez National Canal links up Mediterranean Sea with the - / @ ?Téfq AR, YUY IRR & wigdl 8-
[Question ID = 4040]

1. Atlantic Ocean / 3fcdifcd® HENFR & Y [Option ID = 16157]
2. Pacific Ocean / W=Iid AR & W1y [Option ID = 16158]

3. Red Sea / @fgd R & 1Y [Option ID = 16160]

4. North Sea / ITR! IR & Ty [Option ID = 16159]

Correct Answer :-
« Red Sea / ®ifed YR & I1Y [Option ID = 16160]

36) The Doctrine of Lapse was introduced by - / W & R f%ad §RT = {41 741 4T - [Question ID = 4042]

1. Lord Dalhousie / ?ﬂé‘s’ﬂ"@f\?ﬂ [Option ID = 16166]

2. Lord Curzon / TTS &wi [Option ID = 16168]

3. Lord Rippon / TS @ [Option ID = 16167]

4. Lord William Bentinck / @18 fafery sfee [Option ID = 16165]

Correct Answer :-
« Lord Dalhousie / @IS Sdgrsit [Option ID = 16166]

37) ‘Vernacular Press Act’ was passed during the regime of: / frad srdea & ‘a'FI'I?ﬁR o Tdc’ T §31T [Question ID = 4043]

1. Lord Minto / s fie [Option ID = 16170]
2. Lord Lytton / @S fofeT [Option ID = 16172]
3. Lord Curzon /aﬁﬁ:[ [Option ID = 16169]
4. Lord Ripon / s o [Option ID = 16171]

Correct Answer :-
« Lord Lytton / TS fére [Option ID = 16172]

38) The skill of estimation is important for
A T F FE e o ey &
[Question ID = 4208]

1. A scientist when performing an experiment in a laboratory U 4% i s et # 3 W E T [Option ID = 16829]
. All of us in our daily life I F WA A g T @ o [Option ID = 16831]
. A doctor when measuring our body temperature v% fRifeca ol g IR 1 T0eH o e [Option ID = 16830]

A wWN

. Those of us who do not know how to measure accurately I %‘Q ST WY A FA T A [Option ID = 16832]



Correct Answer :-

o All of us in our daily life Id F W A B9 W [Option ID = 16831]

39) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

Independence of the Commission means:
[Question ID = 4020]

1. have political powers. [Option ID = 16080]

2. have legislative powers. [Option ID = 16078]

3. have judicial powers. [Option ID = 16079]

4. have a constitutional status. [Option ID = 16077]

Correct Answer :-
« have a constitutional status. [Option ID = 16077]

40) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

According to the passage, the Election Commission is an independent constitutional authority. This is under Article No.
[Question ID = 4019]

1. 356 [Option ID = 16074]
2. 324 [Option ID = 16073]
3. 161 [Option ID = 16076]
4. 246 [Option ID = 16075]

Correct Answer :-
* 324 [Option ID = 16073]

41) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

Fair and free election means:

[Question ID = 4021]



1. lack of transparency [Option ID = 16081]

2. regional considerations [Option ID = 16083]

3. to maintain law and order [Option ID = 16082]
4. role for pressure groups [Option ID = 16084]

Correct Answer :-
« to maintain law and order [Option ID = 16082]

42) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

The text of the passage reflects or raises certain questions:
[Question ID = 53395]

1. This would help in stopping the criminalization of Indian politics. [Option ID = 93566]

2. This would ensure fair and free elections. [Option ID = 93568]

3. This would reduce substantially the number of contesting candidates. [Option ID = 93567]
4. The authority of the commission cannot be challenged. [Option ID = 93565]

Correct Answer :-
* This would ensure fair and free elections. [Option ID = 93568]

43) The superintendence, direction and control of preparation of electoral rolls for, and the conduct of, elections to Parliament and State
Legislatures and elections to the offices of the President and the Vice - President of India are vested in the Election Commission of India.
It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive interference is ensured by a specific provision under Article
324 (5) of the constitution that the chief Election Commissioner shall not be removed from his office except in like manner and on like
grounds as a Judge of the Supreme Court and conditions of his service shall not be varied to his disadvantage after his appointment.

In C.W.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the Delhi High Court directed that information relating to
Government dues owed by the candidates to the departments dealing with Government accommodation, electricity, water, telephone and
transport etc. and any other dues should be furnished by the candidates and this information should be published by the election
authorities under the commission.

The Chief Election Commissioner can be removed from his office under Article :
[Question ID = 4022]

1. 352 [Option ID = 16086]
2. 226 [Option ID = 16087]
3. 125 [Option ID = 16085]
4. 324 [Option ID = 16088]

Correct Answer :-
« 324 [Option ID = 16088]

44) The least dense planet is
FHAFATITG T

[Question ID = 4206]

1. Jupiter

e [Option ID = 16822]
2. Saturn

T [option I = 16823]
3. Earth

4 [option 1D = 16821]



4. Uranus

B [Option ID = 16824]

Correct Answer :-
* Saturn
T [option ID = 16823]

45) The Indian Sub-continent was originally a part of / U< IU-HETEIY JeTd: TP U 4T - [Question ID = 4039]

1. Angaraland / IMRTAS BT [Option ID = 16154]

2. Gondwanaland / TigamIee &1 [Option ID = 16156]
3. Aryavarta / 3rafad &7 [Option ID = 16155]

4. Jurassicland / SRIRIGHAS BT [Option ID = 16153]

Correct Answer :-
« Gondwanaland / TISaMIdS T [Option ID = 16156]



